Posted by Dmitrij on Wed, 21 Oct 2009 13:25:04 GMT

View Forum Message <> Reply to Message

Quote:
ACPI: PCI Interrupt 0000:00:1f.3[B] -> GSI 18 (level, low) -> IRQ 98
Intel(R) Gigabit Ethernet Network Driver - version 1.2.45-k2
Copyright (c) 2008 Intel Corporation.
ACPI: PCI Interrupt 0000:01:00.0[B] -> GSI 40 (level, low) -> IRQ 114
PCI: Setting latency timer of device 0000:01:00.0 to 64
sd 0:0:0:0: Attached scsi generic sg0 type O
sd 1:0:0:0: Attached scsi generic sgl type O
input: PC Speaker as /class/input/input4
igbh 0000:01:00.0: Intel(R) Gigabit Ethernet Network Connection
igb 0000:01:00.0: eth0: (PCle:2.5Gb/s:Width x4) 00:15:17:af:4f.38
igb 0000:01:00.0: ethO: PBA No: 1030ff-Off
igb 0000:01:00.0: Using MSI-X interrupts. 4 rx queue(s), 1 tx queue(s)
ACPI: PCI Interrupt 0000:01:00.1[A] -> GSI 28 (level, low) -> IRQ 169
PCI: Setting latency timer of device 0000:01:00.1 to 64
igb 0000:01:00.1: Intel(R) Gigabit Ethernet Network Connection
igb 0000:01:00.1: ethl: (PCle:2.5Gb/s:Width x4) 00:15:17:af:4f:39
igb 0000:01:00.1: eth1: PBA No: 1030ff-0ff
igb 0000:01:00.1: Using MSI-X interrupts. 4 rx queue(s), 1 tx queue(s)
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